Ch 15 KEY REVIEW

True-False Questions
_____
1.
Manufacturing inventory generally refers to items that contribute to or become

 part of a firm’s product output.

_____
2.
Organizations maintain inventories to protect against uncertainty.

_____
3.
Companies offer discounts for larger-quantity orders as an incentive for



customers to buy less than normal.

_____  4.
There is a trade-off between carrying stock to satisfy demand and the costs                           resulting from stockouts.

_____
5.
Independent demand items result from the need for some other item,

usually a higher-level item of which they are a part.

_____
6.
The fixed-order quantity model is event triggered.

_____
7.
In the basic fixed-order quantity model, demand for a product is assumed to be


 unknown, variable, and changing throughout the period.

_____
8.
Safety stock is the number of units that can be supplied from stock currently on 

hand.

_____
9.
A fixed-order quantity system perpetually monitors the inventory level and places a


new order when it reaches some level.  

_____10.
Inventory position is defined as the on-hand plus on-order plus backordered quantities.

Multiple-Choice Questions

_____
11.
Which of the following is a reason to maintain inventory?




A.
To maintain independence of operations




B.
To meet variation in product demand




C.
To allow flexibility in production scheduling




D.
To take advantage of economic purchase order size




E.
All of the above

_____
12.
In _______________ demand, the demands for various items are unrelated to

each other.




A.
Independent




B.
Dependent




C.
Both independent and dependent




D.
Neither independent nor dependent

_____
13.
Safety stock can be defined as the amount of inventory carried in addition to the

 _____________________.




A.
Setup or ordering costs




B.
Holding costs




C.
Carrying costs




D.
Stockout costs




E.  
Expected demand

_____
14.
Which of the following is not an assumption of the basic fixed-order


quantity model?




A.
Lead time is constant.




B.
Ordering or setup costs are constant.




C.
Price per unit of product varies.




D.
Demand for the product is constant and uniform.

_____ 15.
In the basic fixed-order quantity model, total annual inventory cost equals annual
purchase cost plus annual ordering cost plus which of the following:




A.
Annual setup cost




B.
Annual inventory cost




C.
Annual raw materials costs




D.
Annual holding cost

_____
16.
In the fixed-order quantity model, stockouts may occur during:




A.
The lead time




B.
The order time




C.
The holding time




D.
The setup time

_____ 17.
When the Pareto Principle is applied to inventory systems, we can conclude that twenty percent of the items account for what percent of the value of the inventory.




A.
50 percent




B.
60 percent




C.
80 percent




D.
90 percent

_____
18.
In ABC analysis, the grouping that represents the low dollar amount inventory


 item is:




A.
A group




B.
B group




C.
C group




D.
Neither of the above




E.
All of the above

_____
19.
Which of the following could be a reason for lack of inventory accuracy?




A.
Unlocked storeroom.




B.
Out-of-date records.




C.
No recordkeeping mechanisms for locations.




D.
All of the above.

_____
20.
The common term used to identify an inventory item in a department store is:




A.
JIT




B.
SKU




C.
MRP




D.
TQM

